Test will be held on Oct 21, 2003

Midterm test will be held on October 28th, 2003.

Practice test:
Question: 1) Interrupt and trap are different?

Trap you never come back you crash.

Interrupt you come back.

Question: 2) What is Virtual Memory?

Question: 3) What are the four types of Memory?


Register on CPU

Ram


Rom


Diskette (secondary storage- because they used to be outside of the computer)

Question: 4) VAX and VMS are operating systems. (T/F)


VAX is computer architecture


VMS is an Operating System

Question: 5) Predecessor of UNIX was Linux. (T/F).

UNIX’s Predecessor is Multix not Linux

Question: 6) Round Robin with Priority is an example of SJF. (T/F)

Round robin with priority is not an example of SJF.

Question: 7) how you delete a file in UNIX you can use MV instead of RM. (T/F)

Question: 8) There is no way to send an executable file to another file except with a. out (T/F)

You can use –o

Question: 9) Sort is an example of redirection (T/F)

Question: 10) Dining philosopher was an example of deadlock and cannot be resolved (T/F)

Yes it can be resolved you just have to set priority.

Question: 11) In SJF there is a problem of starvation (T/F).

Question: 12) What can prevent starvation.


Aging which will increase the priority as time passes.

Question: 13) In UNIX is the lower number the higher priority. (T/F)

Question: 14) What is the difference between multitasking and single tasking.

Question: 15) How is the random number generator used and why is it useful.

Question: 16) Shortest Job first is preemption (T/F)


preemption is stop and start

Question: 17) All operating systems have semaphore architecture (T/F)

Question: 18) MVT is a dynamic partitioning (T/F)
Question: 19) Does paging have fragmentation (T/F)

Question: 20) Can we do compaction in MFT (T/F)


We can only do it in MVT we can move it up or down.
Question: 21) What is Scheduling?

Question: 22) What does window NT stand for?


Windows New Technology

Question: 23) What does dos stand for?


Diskette Operating System

Question: 24) Best Fit Algorithm is the best strategy (T/F)


You are leaving a lot of holes that will not be used.

Question: 25) Turnaround time is the sum of the waiting time and burst time (T/F)


Round Robin sum of the slice time + sum of the waiting time

Question: 26) Average turnaround time is one way to evaluate a job (T/F)

Question: 27) Arrival time is part of the turnaround time (T/F)

Question: 28) 

Know how to do Round Robin especially with array
Predecessor of DOS was CPM

Things not necessarily for this class but you should know:

Plug cycle.
ALU
